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ﬁ:ﬁi TREDBBOEIENOKRES TREDHBEEILNOKRES TREDBBORILNOKRES TREFDHFERIENOKRES
= = A\ = T iz = = A\ = T A\ = =
i I IS Rt 7 Il B sl Il 7l I I it - Ml A i Il 7o
1 100kN/ Mm% 23 — — — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D -~ — — —
ZFhLs 1.00 | 0.00 4.25 5312 | #nlst | 000 ~ 425|200 10.72 Zh s 1.00 | 5600 ~ 5.00 5312 | #hst | 5.00 ~ 500|200 10.72
2 100kN/m%#8Z% | 1.00 | 0.00 0.67| 109.96 |3mEBZB| — ~ — — — | 100kN/m%#EZ 5| 1.00 | 1245 ~ 14.69| 109.96 |3m%E#BZ % -~ — — —
ZFhLs 1.00 | 0.67 845 100.00 | #hlst | 000 ~ 845|252 13.47 ZThsh 1.00|6.00 ~ 1245| 100.00| Ths | 600 ~ 1469|252 13.47
3 100kN/ Mm% 23 — — — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D - ~ — — —
ZFhLs 1.00 | 0.00 4.34 54.20 | #nst | 000 ~ 454 1.98 10.57 ZThsh 1.00|6.00 ~ 5.00 54.20 | ThS | 6,00 ~ 600 1.98 10.57
4 100kN/ Mm% 23 — — — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D - ~ — — —
ZFhLs 1.00 | 0.00 477 59.45 | #hst | 000 ~ 000 1.70 9.10 Zhsh 1.00 | 5600 ~ 5.00 59.45 | #hst | 5.00 ~ 500 1.70 9.10
5 100kN/m%#8Z% | 1.00 | 0.00 0.56 108.26 |3m&E#EZBH| — ~ — — — | 100kN/m%#BZ 5% | 1.00 | 1247 ~ 14.50 108.26 |3m%&#BZ 5% -~ — — —
ZFhLs 1.00 | 0.56 8.54 100.00 | #hist | 000 ~ 834|252 13.48 Zh st 1.00 | 6.00 ~ 1247 100.00| Ths | 6.00 ~ 1430|252 13.48
6 100kN/m%#8Z% | 1.00 | 0.00 0.42 106.14 |3mE#EZBH| — ~ — — — | 100kN/m%#BZ 5% | 1.00 | 1584 ~ 17.74 106.14 |3m%#BZ 5 -~ — — —
ZFhLs 1.00 | 0.42 8.20 100.00 | #hust 000 ~ s820) 296 15.84 ZThsh 1.00|6.00 ~ 1584 100.00 | =nst | 5,00 ~ 17.74 | 2.96 15.84
p 100kN/ Mm% 23 — — — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D -~ — — —
ZFhLs 1.00 | 0.00 6.62 83.50 | Fhist 000 ~ 662|273 14.58 Zh s 1.00|6.00 ~ 1171 83.50 | Ths | 6.00 ~ 11.71|2.73 14.58
P 100kN/m%#8Z%| 1.00 | 0.00 0.63 109.38 |3m&x#EZBH| — ~ — — — | 100kN/m%#8Z % | 1.00 | 14.10 ~ 16.61 109.38 |3m%&#BZ 5 - ~ — — —
ZFhLs 1.00 | 0.63 842 100.00 | #Fhust 000 ~ 842|286 156.32 Zhst 1.00|6.00 ~ 1410 100.00 | =nst | 5,00 ~ 1661|286 15.32
9 100kN/m%#8Z% | 1.00 | 0.00 0.53 107.91 |3m&E#EZBH| — ~ — — — | 100kN/m%#EZ% | 1.00 | 13.02 ~ 14.88| 107.91 |3m%EiBZ% -~ — — —
ZFhLs 1.00 | 0.53 8.32 100.00 | #hust | 000 ~ 852|256 13.72 ZThsh 1.00|6.00 ~ 1302 100.00| Th5 | 6.00 ~ 14.88| 2.56 13.72
10 100kN/m%#8Z% | 1.00 | 0.00 0.53 107.91 |3m&E#EZBH| — ~ — — — | 100kN/m%#EZ % | 1.00 | 13.02 ~ 1488 | 107.91 |3m%E#BZ% - ~ — — —
ZFhLs 1.00 | 0.53 8.32 100.00 | #hust | 000 ~ 852|256 13.72 Zh s 1.00|6.00 ~ 1302| 100.00| Th5 | 6.00 ~ 14.88| 2.56 13.72
11 100kN/ Mm% 23 — — — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D - ~ — — —
ZFhLs 1.00 | 0.00 6.09 76.37 | TS | 000 ~ 6.09)| 1.96 10.47 Thst 100|600 ~ 767 76.37 | TN | 5,00 ~ 767|196 10.47
12 100kN/ Mm% 23 — — — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D -~ — — —
ZFhLs 1.00 | 0.00 5.61 70.11 | #hbist | 000 ~ 561|215 11.52 Zh s 1.00 | 600 ~ 841 70.11 | ThLs | 5,00 ~ 841|215 11.52
13 100kN/ Mm% 23 — — — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D - ~ — — —
ZFhLs 1.00 | 0.00 6.28 78.94 | TnLS | 000 ~ 628)|215 11.50 Thst 100|600 ~ 9.88 78.94 | TS | 5,00 ~ 988|215 11.50
14 100kN/m%#8Z% | 1.00 | 0.00 0.59 105.79 |3m&E#EZBH| — ~ — — — | 100kN/m%#BZ % | 1.00 | 13.85 ~ 15.31 105.79 |3m%&#BZ 5% - ~ — — —
ZFhLs 1.00 | 0.59 818 100.00 | #hust 000 ~ 818) 285 15.23 Thsh 1.00|56.00 ~ 1385| 100.00| Fhs |6.00 ~ 1531|285 15.23
15 100kN/ Mm% 23 — — — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D - ~ — — —
Zh LS 1.00 | 0.00 6.48 81.55 | #nlust | 000 ~ 648|278 14.88 Zh st 1.00 | .00 ~ 1212 81.55 | #hst | 5.00 ~ 1212|278 14.88
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16 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D -~ — — —
ZFhLs 1.00| 000 ~ 4.04 50.63 | #nust | 000 ~ 4.04)] 206 11.04 ZThsh 1.00|6.00 ~ 5.00 50.63 | ThS | 6.00 ~ 6.00|2.06 11.04
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ ZThsh ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhs ~ Zhsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ Zh st ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ Zh s ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhs ~ Zhst ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ Zh s ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ ZThsh ~ Zhsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhsh ~ Zh s ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhsh ~ Zh st ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zh s ~ Thsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
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